Food Ordering Group Exercise
The Facts:
· State L has a caseload of 10,000 (all elderly)
· They know they need to order cheese, UHT milk and chicken.
· At the end of December they will have 0 months of inventory of UHT milk and cheese.
· They will have 2 months of canned chicken (material 110412 which can no longer be ordered; its been replaced by 110477 pouched chicken)

Question 1:
· UHT Milk: 12 units per case; 1,500 cases per truck = 18,000 units per truck
· Distribution Rate = 2 packages per month
· 1 truck contains enough product for 9,000 food packages
· How many trucks would State L have to purchase for January – March to maintain at least a 2-month inventory? When should they request delivery?

Question 2:
· Cheese: 12 units per case; 1,650 cases per truck 	= 19,800 units per truck
· Distribution Rate = 1 package per month
· 1 truck contains enough product for 19,800 food packages
· How many trucks would State L have to purchase for January – March to maintain at least a 2-month inventory? When should they request delivery?

Question 3:
· Canned Chicken: 12 units per case; 1,500 cases per truck  = 18,000 units per truck
· Pouched Chicken: 36 units per case; 1,600 cases per truck = 57,600 units per truck
· Distribution Rate = 2 packages per month
· How many trucks would State L have to purchase of 110477 for January – March to maintain at least a 2-month inventory? When should they request delivery?
· State L forgot they already have 2 months of 110412 on hand. How much do they have to order of 110477 to ensure they get through the quarter? When should they request delivery?


Food Ordering Group Exercise – ANSWER SHEET
Question 1:
5 months [Jan, Feb, Mar plus 2 months on hand] x 20,000 units [caseload of 10,000 x 2 units distributed) =
100,000 units / 18,000 units per truck = 5.5 trucks round up to a full 6 trucks
If delivered as follows:
	Month
	Units Carried Over
	Units Received
	Units Distributed
	Units Remaining
	Months on Hand

	January
	0
	54,000
	20,000
	34,000
	1.7

	February
	34,000
	36,000
	20,000
	50,000
	2.5

	March
	50,000
	18,000
	20,000
	48,000
	2.4



Question 2:
5 months [Jan, Feb, Mar plus 2 months on hand] x 10,000 units [caseload of 10,000 x 1 units distributed) =
50,000 units / 19,800 units per truck = 2.5 trucks round up to a full 3 trucks
If delivered as follows:
	Month
	Units Carried Over
	Units Received
	Units Distributed
	Units Remaining
	Months on Hand

	January
	0
	19,800
	10,000
	9,800
	0.98

	February
	9,800
	19,800
	10,000
	19,600
	1.96

	March
	19,600
	19,800
	10,000
	29,400
	2.94



Question 3:
[bookmark: _GoBack]5 months [Jan, Feb, Mar plus 2 months on hand]x 20,000 units [caseload of 10,000x2 units distributed) =
100,000 units / 57,600 units per truck = 1.7 trucks round up to a full 2 trucks
If delivered as follows:
	Month
	Units Carried Over
	Units Received
	Units Distributed
	Units Remaining
	Months on Hand

	January
	0
	57,600
	20,000
	37,600
	1.88

	February
	37,600
	57,600
	20,000
	75,200
	3.76

	March
	75,200
	
	20,000
	55,200
	2.76



3 months [January, February, March] x 20,000 units [caseload of 10,000 x 2 units distributed) =
60,000 units / 57,600 units per truck = 1 truck
If delivered as follows:
	Month
	Units Carried Over
	Units Received
	Units Distributed
	Units Remaining
	Months on Hand

	January
	40,000
	
	20,000
	20,000
	1

	February
	20,000
	57,600
	20,000
	57,600
	2.88

	March
	57,600
	
	20,000
	37,600
	1.88



